ShreeMahalaxmi District Institute
of Education and Training
Khamasa road Raikhad
Ahmedabad Rural Pin 380001
Date: 29 //2 /12

To, Member secretary NCTE western regional comette Manas Bhavan,Shyamala hill Bhopal-462002(M.P)

Sub:Submition of hardcopy for B.Ed course Ref:gcertcmde2012/24392-24418/ date-27/12/12

Res Sir,

1757

With respect to above subject and Reference we have submmited our Soft copy of B.Ed. course dated -29/12/12 and ID No—WRCAPP 2194.Now we are sending Our Hard copy of all documents as per your requirement.plese kindly accept it.

Thanks

Principal

Shree Mahalaxmi Disrict Institute of Education and Training Khamasa road raikhad Ahmedabad-Rural

Pin:380001

SIC

(60)



A Statutory Body Of The Government Of India

DATE OF SUBMISSION: 12/29/2012 12:21:55 AM

Mode of Payment: Not Applicable

APPLICATION ID: WRCAPP2194

Website: www.ncte-india.org

Particulars of the Authorized applicant

Name of the Applicant

: Nutanben Pranbhai Raval

Designation

: Principal

Address

: Shree Mahalaxmi District Institute of Education &

Training (Ahmedabad-Rural), Near Khamasa Gate,

Raikhad

Ahmedabad-380001, Gujarat

E-mail Address

: akshay.1967@yahoo.com

Telephone No (Office)

: 25357541

Telephone No (Resi)

: 27545312

Mobile No

: 7567865441

Name of the Applicant/Organization/Socity/Trust

: Shree Mahalaxmi District Institute of

Education & Training

Postal Address of the Applicant

Plot Number

: 5299

Street/Road

: KHAMASA GATE

Village/Town/city

: Ahmedabad

Post Office

: Ahmedabád

HORE AN ANADOMORAN COMMISS

ones a walkey

Town/City

A MARKON SOLD WARREN OF SOME SPECIAL S

Tehsil/Taluka

: Ahmedabad

: Ahmedabad

State

: GJ

District

: Ahmedabad (GJ)

2000

322

STD Code

: 079

Pin Code

E-mail ID

: 380001

Fax No.

: 25357541

Telephone No

: 25357541

Website Address

www.dietahmrural.org

dietahm@yahoo.co.uk

Permanent Account Number of Society/Trust/body

: AHMD00015B

0-1-

Principa.
Saree Mahalaxmi Fiscoct Institute

of Education And Training

Ahmedahad-: Pural

Lode Va 230



A Statutory Body Of The Government Of India

Details of Programmes other than Teacher Education

Details of Programmes other than Teachers Education if any, run by the same Applicant /

Organization / Society / Trust

Name of the Institution	Name of the Programme	Level of the Programme	Duration of the		Name of the Affiliating	Date of Affiliation
			Programme	Programme	Board/Univer.	

h)rt__

Principal
Stree Mahalaxini District Institute
of Education Are Training
Ahmedahad-1 Fural
Tode No. 230



A Statutory Body Of The Government Of India

Particulars of Application Institution

A construction and the construction	
Inctitution	Information
mamumon	n non namon

Name of the Institution

: SHREE MAHALAXMI DISTRICT INSTITUTE OF

EDUCATION AND TRAINING

Course Applied for

: B.Ed

Nature of Application

: New Recognition

Mode of Course

: Face

Complete Postal Address[As mention in the Affidavit]

Land Identification (Plot/Khasara No.)

0110-46-0001-0001-V/5299

Land Title

: GOVT PROPERTY

Plot Number

: 5299

Street Number

: KHAMASA

Village

: AHMEDABAD

Post Office

: AHMEDABAD

Tehsil/Taluka

: AHMEDABAD

Town/City

: AHMEDABAD

State

: GJ

District

: Ahmedabad (GJ)

Pin Code

: 380001

Telehpone No

: 079 25357541

Fax No.

: 079 25357541

E-mail ID

: DIETAHM@YAHOO.CO.UK

Website Address

WWW.DIETAHMRURAL.OR

G

Institute is for

: Girls

Institute is a Minority Institution

: No

Type of Management

: Government

(Please attach supporting documents. In case of institutions financed by Central Govt./State Govt./UT Admn. to the extent of not less than 50% of their recurring cost, a certificate to this effect from the Government concerned.)

Affiliating Body / University

Name

: Indian Institute of Teacher Education

Address

: Government Colledge Campus, Near Mahatma Mandir,

G-4, Gandhinagar, Gujarat

Telephone Nos.

: 079 23287268

Principal

of Education And Training
Ahmedahad-1 Rural

Code No 239

Page No: 3



A Statutory Body Of The Government Of India

Details of Existing Teacher Education Programmes/Courses

Details of Existing Teacher Education Programmes/Courses run by the same applicant

Society/Trust/Organisation

Society/Trust/Or	ganisation						
government de l'especiment de	Name of the	Date of Commenceme	Existing approve	Recognit	Recognition Order Date	L commence many	Date of Affiliatio
mstitution	riogramme	nt of the	d intake	Order	0,40, 24,	a	n
		Personal contraction	u iiilake			9	
		Programme		Number		Board/U	
	5400					niversity	
SHREE	P.T.C	01/12/2000	50	WRC/N	12/01/2000	GCERT	12/17/19
MAHALAXMI	(PRIMARY			CTE/9-		GANDHI	94
DISTRICT	TEACHER			9/2002/0		NAGAR	
INSTITUTE OF	CERTIFICA			1738-		GUJAR	
EDUCATION	TE			8473		AT	
AND	COURSE)						
TRAINING	SET FACE	(A.C.)	r		S. Sierr		
AHMEDABAD							
RURAL				<u> </u>			

Principal
Shree Mahalaxmi District Institute
of Education And Training
Ahmedahad-1 Rural

Code No 239



A Statutory Body Of The Government Of India

Details of already Submitted Application(s)

Details of the Application(s) for Teacher Education Programmes(s) already submitted by the

same Applicant/Organization/Society/Trust which is/are pending for final decision

Name of the	Date of	Applicati	Name of	Academic	Proposed	Regional	Status
Institution	Application	on ID	the	session for	intake	Committe to	
			Program	which		whom	
			me	applied		applied	

Princip.

of Education Ar : Praining
Ahmedahad-1 Rural

Code No 239



A Statutory Body Of The Government Of India

Particulars of Funds

Details of the Endowment fund (self-financed institutions/programmes) (Please see Clause 10 (1) of the NCTE (Recognition Norms and Procedure) Regulations, 2007 published on 10.12.2007)

Particulars of the Endowment fund (to be filled in the case of self-financed institutions/ programmes)

Amount of Endowment Fund : N//+

Fixed Deposit Receipt Number : N/Y

Duration of the FDR (Minimum five years)

Date of issue : 1/1/1900 12:00:00 AM

Name of the Nationalized Bank : NA

Full address : MA

Phone numbers : NA

FDR enclosed in original : Yes NIT

Particulars of the Reserve Fund (to be filled in the case of self-financed institutions/ programmes)

Amount of Reserve Fund : MA

Fixed Deposit Receipt Number : KM

Duration of the FDR (Minimum five years) :

(mate of issue : 1/1/1900 12:00:00 AM

Name of the Nationalized Bank : MA

Full address : M/

Phone numbers : K/>

FDR enclosed in original : Yes w/t

Principal

of Education Ar "raining

Ahmedahad- Rural

ode to 239



A Statutory Body Of The Government Of India

Details of Infrastructural Facilities available for proposed programme/course

Area of the land in possession (in sq. mts.)

: 13877.16

Built up area earmarked for the course (in sq.

: 1207.76

mts.)

Whether the building constructed / proposed to : Yes

be constructed on the same land.

Building

Please refer to Clause 8 of NCTE (Recognition Norms and Procedure) Regulations, 2007

Date of completion of construction of the

: 11/09/2007

building.

Name of the competent authority for approval of : DEPUTY EXE ENGINEER

building plan and issue of completion certificate

Address of the competent authority for approval : DEPUTY EXE ENGINEER, CONSTN (R and B), SUB

of building plan and issue of completion

DIVI NO 4, AHMEDABAD

certificate

GUJARAT

Whether Bldg. is disabled -friendly as per the

: Yes

Total Built up Area (in sq. meter)

: 1207.76

Total Built up Area (in sq.ft.)

: 3925.22

Specification of Rooms and other infrastructural facilities

Description	Room No.	length in meter	Breadth in meter	Carpet area in sq. meter
Class Room	13	7.25	7.77	56.33
Class Room	13	0.97	0.25	0.24
Class Room	17	4.82	3.52	16.97
Class Room	16	7.18	7.27	52.20
Class Room	2	1.2	0.25	0.30
Class Room	14	1.17	0.25	0.29
Class Room	14	4.45	3.35	14.91

Principal

Paree Mahalaxmi Pistrict Institute of Education A: raining

Ahmedahad-: kural Gode No. 239

Page No: 7

Class Room	15	11	5-62	66
Class Room	15	1.17	0.25	0.29
Class Room	18	1.17	0.25	0.29
Class Room	16	1.17	0.25	0.29
Class Room	17	1.17	0.25	0.29
Class Room	18	3.35	3.37	11.29
Multipurpose Hall	5	53.93	6.19	333.84
Library	4	7.17	1.22	8.75
Library	4	1.20	0.60	0.72
Library	4	2.25	0.60	1.35
Library	4	4.94	1.25	6.06
Library	4	22.16	4.83	107.03
Principal Room	6	4.89	3.40	16.63
Administrative Office	1	7.24	4.44	32.15
Administrative Office	1	3.53	1.77	6.25
Administrative Office	1	0.97	0.27	0.26
Administrative Office	2	4.48	3.40	15.23
Store Room	2	1.2	0.25	0.30
Educational Technology (ET) / ICT Lab	19	4.7	3.52	16.54
Educational Technology (ET) / ICT Lab	19	1.17	0.25	0.29
Workshop	3	1.20	0.25	0.30
Workshop	3	10.94	4.45	44.68
Any other Room / Hall	7	9.52	6.00	57.12
Any other Room /	7	4.95	2.94	14.15

Page No: 8

Principal

shree Mahalaxmi F-istrict Institute
of Education And Training
Ahmedahad-1 Rural

(sode No. 230

Hall				67.2
Any other Room /	7	1.43	1.17	1.67
Any other Room / Hall	7	4.0	2.0	8.0
Any other Room / Hall	7	3.5	1.70	0.02
Any other Room / Hall	7	3.55	3.38	12.0
Any other Room / Hall	7	1.72	1.16	1.91
Any other Room / Hall	7	3.55	3.75	13.31
Any other Room / Hall	7	2.58	0.20	0.75
Any other Room / Hall	7	1.45	1.48	1.71
Any other Room / Hall	7	7.75	2.02	15.66
Toilets (Male)	22	1.45	1.17	1.70
Toilets (Male)	8	1.46	1.29	1.88
Toilets (Male)	22	1.77	1.38	2.44
Toilets (Male)	22	1.19	0.13	0.21
Toilets (Male)	22	2.59	1.79	4.64
Toilets (Male)	8	2.57	1.85	4.75
Toilets (Male)	8	1.70	1.29	2.36
Toilets (Female)	9	2.10	1.18	2.48
Toilets (Female)	9	0.7	0.17	0.12
Toilets (Female)	23	2.10	1.15	2.42
Toilets (Female)	23	0.69	0.17	0.12
Any other facilities	25	5.40	3.38	17.24
Any other facilities	11	4.48	1.24	5.56
Any other facilities	12	1.48	1.45	2.15

Page No: 9

Principal

whree Mahalaxmi District Institute
of Education A raining

Ahmedahad ural

(odd No. 230

Any other facilities	10	2.33	1.13	2.63
Any other facilities	10	0.69	0.18	0.12
Any other facilities	21	1.40	1.20	1.68
Any other facilities	21	6.35	3.38	2.46
Any other facilities	20	3.51	1.56	1.10
Any other facilities	20	3.51	1.56	1.10
Any other facilities	21	7.80	2.11	15.46
Any other facilities	21	2.26	1.73	3.91
Any other facilities	21	3.80	3.03	11.51
Any other facilities	21	3.40	0.50	1.70
Any other facilities	21	12.55	3.72	46.89
Any other facilities	24	0.68	0.18	0.12
Any other facilities	24	2.31	1.14	2.63

Principal
Shree Mahalaxmi District Institute
of Education A raining
Ahmedahad ural
(ode No. 239



A Statutory Body Of The Government Of India

Details of Instructional Resources

Library

Total number of Titles : 4798

Total number of Books : 7715

Journals : 35

Computer Laboratory

No. of Computers : 17

Internet Access : Yes

LAN : Yes

Academic Staff (Applicable for existing institutions)

Details of Academic Posts available at present

Name of the Post	Number of Post	Pay Scale	No.of Filled Posts	No. of Vacant Posts
PRINCIPAL	1	15600-39100	01	00
SRLECTURER	7	9300-34800	7	00
LECTURER	15	9300-34800	10	5

Technical Support Staff

Name of the Post	Number of Post	Pay Scale	No.of Filled Posts	No. of Vacant Posts
COM OPER	1	5200-20200	0	1
TECHNICIAN	1	5200-20200	1	0

Administrative Staff

Details of Non-Academic Staff available at present

Name of the Post	Number of Post	Pay Scale	No.of Filled Posts	No. of Vacant Posts
Watchman	1	4440-7440	1	0
JRCLERK	2	5200-20200	1	1



Page No: 11

Principal
Shree Mahalaxmi Fishrict Institute
of Education A: Training
Ahmedahad Rural

SRCLERK	3	5200-20200	3	0
HCLERK	2	9300-34800	2	0
AUDITER GR	1	9300-34800	1	0
LIBRARIAN	1	5200-20200	1	0
RECTER	1	5200-20200	o	1
PEUN	3	4440-7440	3	0

Principal

Shree Mahalaxmi District Institute
of Education An : Training
Ahmedahad- Rural

ode No. 239



A Statutory Body Of The Government Of India

Arrangement for Games and Sports

Number of Playgrounds	length in meter	Breadth in meter	Carpet area in sq. meter
4	14.32	12	171.84
3	53	30	1590
2	51.20	32	1638.4
1	10	24	240

Website: www.nqte-india.org

ma